v ARk m
ATV IORT ST v =/ RILK

AVFYOARIN, AN NEAT - KRAHT—H

EH 22110.

TER

e —
I
VN S

EmiA

AVFVORTSUDv—, ATV VAROREEVET
R REBREELEARTERZEDY £H A
ZIVMOBTRIREFTHI2OTELICRUAHET,

e

K
« AF4—)L, B%
« AT L A 1.4305 ( SUS3034H )

avso- e

e AT14—JL, BAh

« AT L A#H 1.4305 ( SUS303+HY ) .
ZYTIIXYF

J7
< PA6, B (2%HL)
« FA4OV6, < THFKE

o
=V

3

FALRARU A HT— (EH22120. ) B> T
RIEODRNEEZ2ZEADENTEXT,
EBER

fi&Z

PR AHE

Ovo: v MERISEY TY,

Z Ot ORE

cBEZOVO, ATV IARILN A2
TYIRTZoDv—f, FAF¥vARHA

s AT —FA2ITv, ATV AR
h A

C TARBVR D=, ATV IARILK
A

_‘U
& -
7 ®
m
- ’
/]
’ .
= . P N N
. | - 22120.0114-.0120 ( RF 4 =)L)
w d4 22120.0514-.0520 ( A7V LR )
w d
K a1 22
HEER
+5% =8 NzHY i 1
dy d, b | ds | dy | ds I k|l Is ls Fi F, min. | max
-0,02 min. # #
-0,05
[mm] [mm] IN] [°cl la]
J71. B&-K1, 8
4 M 8x1 4 16 - - 35,0 16 5 - - 10 4,5 12,0 -30 80 10 22110.0103
4 M 8x1 6 16 - - 35,0 16 5 - - 10 4,0 12,5 -30 80 10 22110.0104
5 M10 x 1 5 19 - - 40,0 18 6 - - 12 5,0 15,0 -30 80 18 22110.0106
5 M10 x 1 8 19 - - 40,0 18 6 - - 12 5,0 18,0 -30 80 18 22110.0107
6 M12x1,5 6 23 - - 48,0 22 6 - - 14 6,5 19,0 -30 80 29 22110.0109
6 M12 x 1,5 9 23 - - 48,0 22 6 - - 14 6,0 25,0 -30 80 29 22110.0110
8 M16 x 1,5 8 28 - - 58,0 26 8 - - 17 8,5 26,0 -30 80 62 22110.0112
8 M16 x 1,5 12 28 — - 58,0 26 8 - - 17 8,5 28,0 -30 80 62 22110.0113
10 M16 x 1,5 12 28 - - 58,0 26 8 - - 17 9,5 38,0 -30 80 63 22110.0115
12 M20 x 1,5 15 33 - - 67,0 33 10 - - 22 1,5 40,0 -30 80 128 22110.0116
16 M24 x 2 20 33 - - 78,5 38 12 - - 27 13,0 54,0 -30 80 203 22110.0117
" Gt T ME
ENHALDER 1553

hiX: 13.10.2023


http://halder.com/jp/22110.0103
http://halder.com/jp/22110.0104
http://halder.com/jp/22110.0106
http://halder.com/jp/22110.0107
http://halder.com/jp/22110.0109
http://halder.com/jp/22110.0110
http://halder.com/jp/22110.0112
http://halder.com/jp/22110.0113
http://halder.com/jp/22110.0115
http://halder.com/jp/22110.0116
http://halder.com/jp/22110.0117

o

v ARk m
ATV ORTZTv—/RILb

+% —miE Nz 8 T mEES

dy d; I d; dy ds Iy I3 Iy Is ls Fy F, min. max.

-0,02 min. £ #

-0,05

[mm] [mm] [N] [°C] [o]

J7E. Fe-K1,8
4 M 8x1 4 16 - - 35,0 16 5 - - 10 4,5 12,0 -30 80 10 22110.2103
4 M 8x1 6 16 — - 35,0 16 5 - - 10 4,0 12,5 -30 80 11 22110.2104
5 M10 x 1 5 19 - - 40,0 18 6 - - 12 5,0 15,0 -30 80 18 22110.2106
5 M10 x 1 8 19 - - 40,0 18 6 - - 12 5,0 18,0 -30 80 18 22110.2107
6 M12x 1,5 6 23 - - 48,0 22 6 - - 14 6,5 19,0 -30 80 30 22110.2109
6 M12x 1,5 9 23 - - 48,0 22 6 - - 14 6,0 25,0 -30 80 29 22110.2110
8 M16 x 1,5 8 28 - - 58,0 26 8 - - 17 8,5 26,0 -30 80 62 22110.2112
8 M16 x 1,5 12 28 - - 58,0 26 8 - - 17 8,5 28,0 -30 80 64 22110.2113
10 M16 x 1,5 12 28 - - 58,0 26 8 - - 17 9,5 38,0 -30 80 65 22110.2115
12 M20x 1,5 15 33 - - 71,5 33 10 - - 22 1,5 40,0 -30 80 117 22110.2116
16 M24 x 2 20 33 - - 78,5 38 12 - - 27 13,0 54,0 -30 80 202 22110.2117

J7BL-K2
4 M 8x1 4 - M3 7 - 16 5 4.5 2,5 10 45 12,0 - 250 9 22110.0143
4 M 8x1 6 - M3 7 - 16 5 4.5 2,5 10 4,0 12,5 - 250 9 22110.0144
5 M10 x 1 5 - M4 8 - 18 6 55 3,0 12 5,0 15,0 - 250 16 22110.0146
5 M10 x 1 8 - M4 8 - 18 6 55 3,0 12 5,0 18,0 - 250 17 22110.0147
6 M12x 1,5 6 - M5 9 - 22 6 7,0 3,5 14 6,5 19,0 - 250 25 22110.0149
6 M12x1,5 9 - M5 9 - 22 6 7,0 3,5 14 6,0 25,0 - 250 26 22110.0150
8 M16 x 1,5 8 - M6 10 - 26 8 8,5 4,0 17 8,5 26,0 - 250 54 22110.0152
8 M16 x 1,5 12 - M6 10 - 26 8 8,5 4.0 17 8,5 28,0 - 250 55 22110.0153
10 M16 x 1,5 12 - M6 10 - 26 8 8,5 4,0 17 9,5 38,0 - 250 56 22110.0155
12 M20x 1,5 15 - M6 12 - 33 10 8,5 4,0 22 1,5 40,0 - 250 111 22110.0156
16 M24 x 2 20 - M8 15 - 38 12 11,5 5,0 27 13,0 54,0 - 250 193 22110.0157

J7#, BE&-R1, ATV LAH
4 M 8x1 4 16 - - 35,0 16 5 - - 10 4,5 12,0 -30 80 10 22110.0203
4 M 8x1 6 16 - - 35,0 16 5 - - 10 4,0 12,5 -30 80 10 22110.0204
5 M10 x 1 5 19 - - 40,0 18 6 - - 12 5,0 15,0 -30 80 18 22110.0206
5 M10 x 1 8 19 - - 40,0 18 6 - - 12 5,0 18,0 -30 80 18 22110.0207
6 M12x1,5 6 23 - - 48,0 22 6 - - 14 6,5 19,0 -30 80 29 22110.0209
6 M12x1,5 9 23 - - 48,0 22 6 - - 14 6,0 25,0 -30 80 29 22110.0210
8 M16 x 1,5 8 28 - - 58,0 26 8 - - 17 8,5 26,0 -30 80 62 22110.0212
8 M16 x 1,5 12 28 - - 58,0 26 8 - - 17 8,5 28,0 -30 80 62 22110.0213
10 M16 x 1,5 12 28 - - 58,0 26 8 - - 17 9,5 38,0 -30 80 63 22110.0215
12 M20x 1,5 15 33 - - 67,0 33 10 - - 22 11,5 40,0 -30 80 128 22110.0216
16 M24 x 2 20 33 - - 78,5 38 12 - - 27 13,0 54,0 -30 80 203 22110.0217

J7f, FE-R1, ATVLA#E
4 M 8x1 4 16 - - 35,0 16 5 - - 10 4,5 12,0 -30 80 10 22110.2203
4 M 8x1 6 16 - - 35,0 16 5 - - 10 4,0 12,5 -30 80 11 22110.2204
5 M10 x 1 5 19 - - 40,0 18 6 - - 12 5,0 15,0 -30 80 18 22110.2206
5 M10x 1 8 19 - - 40,0 18 6 - - 12 5,0 18,0 -30 80 18 22110.2207
6 M12x1,5 6 23 - - 48,0 22 6 - - 14 6,5 19,0 -30 80 30 22110.2209
6 M12x 1,5 9 23 - - 48,0 22 6 - - 14 6,0 25,0 -30 80 29 22110.2210
8 M16 x 1,5 8 28 - - 58,0 26 8 - - 17 8,5 26,0 -30 80 62 22110.2212
8 M16 x 1,5 12 28 - - 58,0 26 8 - - 17 8,5 28,0 -30 80 64 22110.2213
10 M16 x 1,5 12 28 - - 58,0 26 8 - - 17 9,5 38,0 -30 80 65 22110.2215
12 M20x 1,5 15 33 - - 71,5 33 10 - - 22 11,5 40,0 -30 80 117 22110.2216
16 M24 x 2 20 33 - - 78,5 38 12 - - 27 13,0 54,0 -30 80 202 22110.2217

JTBUL-K2, ATV LAH
4 M 8x1 4 - M3 7 - 16 5 4.5 2,5 10 4,5 12,0 - 250 9 22110.0243
4 M 8x1 6 - M3 7 - 16 5 4.5 2,5 10 4,0 12,5 - 250 9 22110.0244
5 M10x 1 5 - M4 8 - 18 6 55 3,0 12 5,0 15,0 - 250 16 22110.0246
5 M10 x 1 8 - M4 8 - 18 6 55 3,0 12 5,0 18,0 - 250 17 22110.0247
6 M12x 1,5 6 - M5 9 - 22 6 7,0 3,5 14 6,5 19,0 - 250 25 22110.0249
6 M12x1,5 9 - M5 9 - 22 6 7,0 3,5 14 6,0 25,0 - 250 26 22110.0250
8 M16 x 1,5 8 - M6 10 - 26 8 8,5 4,0 17 8,5 26,0 - 250 54 22110.0252

" R P9 ME

&WHALDER R2pss

hiX: 13.10.2023


http://halder.com/jp/22110.2103
http://halder.com/jp/22110.2104
http://halder.com/jp/22110.2106
http://halder.com/jp/22110.2107
http://halder.com/jp/22110.2109
http://halder.com/jp/22110.2110
http://halder.com/jp/22110.2112
http://halder.com/jp/22110.2113
http://halder.com/jp/22110.2115
http://halder.com/jp/22110.2116
http://halder.com/jp/22110.2117
http://halder.com/jp/22110.0143
http://halder.com/jp/22110.0144
http://halder.com/jp/22110.0146
http://halder.com/jp/22110.0147
http://halder.com/jp/22110.0149
http://halder.com/jp/22110.0150
http://halder.com/jp/22110.0152
http://halder.com/jp/22110.0153
http://halder.com/jp/22110.0155
http://halder.com/jp/22110.0156
http://halder.com/jp/22110.0157
http://halder.com/jp/22110.0203
http://halder.com/jp/22110.0204
http://halder.com/jp/22110.0206
http://halder.com/jp/22110.0207
http://halder.com/jp/22110.0209
http://halder.com/jp/22110.0210
http://halder.com/jp/22110.0212
http://halder.com/jp/22110.0213
http://halder.com/jp/22110.0215
http://halder.com/jp/22110.0216
http://halder.com/jp/22110.0217
http://halder.com/jp/22110.2203
http://halder.com/jp/22110.2204
http://halder.com/jp/22110.2206
http://halder.com/jp/22110.2207
http://halder.com/jp/22110.2209
http://halder.com/jp/22110.2210
http://halder.com/jp/22110.2212
http://halder.com/jp/22110.2213
http://halder.com/jp/22110.2215
http://halder.com/jp/22110.2216
http://halder.com/jp/22110.2217
http://halder.com/jp/22110.0243
http://halder.com/jp/22110.0244
http://halder.com/jp/22110.0246
http://halder.com/jp/22110.0247
http://halder.com/jp/22110.0249
http://halder.com/jp/22110.0250
http://halder.com/jp/22110.0252

v ARk m
ATV IORTZ Ty —/ Rk

<& ZEE NzH" & [ HRES
dy d; I d; dy ds Iy I3 Iy Is ls Fy F, min. max.
-0,02 min. £ #
-0,05
[mm] [mm] [N] [°C] [g]

8 | M16x1,5 | 12 - M6 | 10 - 26 8 8,5 4,0 17 8,5 28,0 - 250 55 | 22110.0253
10 | M16x1,5 | 12 - M6 | 10 - 26 8 8,5 4,0 17 9,5 38,0 - 250 56 | 22110.0255
12 | M20x15 | 15 - M6 | 12 - 33 | 10 8,5 4,0 22 11,5 40,0 - 250 111 | 22110.0256
16 | M24x2 20 - M8 | 15 - 38 | 12 11,5 5,0 27 13,0 54,0 - 250 193 | 22110.0257

Va9
TotHl)—
& LYFH4X [ 1 HERES
d;
[mm] [mm] [a]
Ov 273 v IS0 8675 (DIN 439), £
M 8x1 13 2,7 22120.0114
M10 x 1 16 52 22120.0115
M12x1,5 18 75 22120.0116
M16 x 1,5 24 15,0 22120.0118
M20 x 1,5 30 32,0 22120.0120
M24 x 2 36 58,0 22120.0122
Ov 23 ¥ SO 8675 (DIN 439), A5 L A
M 8x1 13 2,7 22120.0514
M10 x 1 16 52 22120.0515
M12x 1,5 18 75 22120.0516
M16 x 1,5 24 15,0 22120.0518
M20 x 1,5 30 32,0 22120.0520
M24 x 2 36 58,0 22120.0522

Iyt

ESQVTIATUA

FHHOESERICOVTR, BNORGEESZERLTLEEL,

H3/53
EEHALDER hiX: 13.10.2023


http://halder.com/jp/22110.0253
http://halder.com/jp/22110.0255
http://halder.com/jp/22110.0256
http://halder.com/jp/22110.0257
http://halder.com/jp/22120.0114
http://halder.com/jp/22120.0115
http://halder.com/jp/22120.0116
http://halder.com/jp/22120.0118
http://halder.com/jp/22120.0120
http://halder.com/jp/22120.0122
http://halder.com/jp/22120.0514
http://halder.com/jp/22120.0515
http://halder.com/jp/22120.0516
http://halder.com/jp/22120.0518
http://halder.com/jp/22120.0520
http://halder.com/jp/22120.0522

